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B.A/B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, NOVEMBER 2021.

Second Year

(i) ENGLISH PAPER - II

Time : Three hours Maximum : 70 marks

1. (a)

(b)

All Sections are compulsory.
SECTION - A

Read the following passage and answer the questions. 5)

Ancient India was an advanced knowledge society. Invasions and colonial rule
destroyed its institutions and robbed it of its core competence. Its people have been
systematically degraded to lower levels of existence. By the time the British left, our
youth had lowered their aims and were satisfied earning an ordinary livelihood. India
is a land of knowledge and must rediscover itself in this aspect to achieve the quality of
a developed nation.

(1) How did India lose its competence?

(11) Why did the youth lower their aims?

(111) How can India become a developed nation?

(1v) In which lesson is this passage found?

(v)  Who is the author?

Read the text given below and then answer the questions that follow by choosing the
right answer. 5)

Hearing that a zookeeper has managed to train a tiger to live in the same cage as a
goat, a man pays a visit to see if it’s true. Amazingly, the man finds the animals lying
next to each other. ‘How did you do this?” he asks the keeper. ‘Is this a trick? ‘No’,
replies the zookeeper, ‘this has been going on for three months now. I don’t mind telling
you, though’, he confides, ‘we’ve had to replace the goat a few times.’

(1) The man visited the zoo because he wanted to

(A) meet the zookeeper.
(B) spend time with the tiger and the goat.
(C) see the tiger and the goat living together.
(D) see the tiger eat a goat.
(11) ‘We've had to replace the goat a few times’. This was because
(A) the tiger and the goat were good friends.
(B) the tiger got bored with the goat.
(C) the hungry tiger ate up the goats put into the cage.
(D) the goats grew afraid of the tiger.



(111) By putting the tiger and the goat in the same cage, the zookeeper was
the public.

(A) deceiving
(B) shocking

(C) entertaining
(D) informing.

(iv) Synonym for the word ‘replace’ is

(A) Precede
(B) forfeit
(C) recover
(D) change
(v) Antonym for the word ‘replace’ is
(A) restore

B) keep
(C) receive
(D) alter
Answer any TWO in about 100 words. 2x4=28)

(a) What is PT Barnum’s advice to people about savings?

(b) What is Helen Keller’s plan for the first three days of sight?
(¢) Sketch the character of Edward Middleton.

(d) What are the sources of knowledge?

Answer any ONE in about 200 words.
(a) How did Gandhiji realize that it was his character that made a gentleman of him?
(b) Summarize L.A. Hill's advice to a person to become a successful writer.

(c)  What is the central theme of ‘The Drunkard’?
SECTION - B

(a) Answer any ONE in about 100 words.
(1) What is the immediate effect of the bird’s song on Keats?
(11) What is the connection between the river and the ocean?
(111) Describe the lover as portrayed by Browning.
(b) Explain any ONE of the following :
(1) And set the wall between us again.
(1) Like the weary rivers of the blood.
that bear the scum of ancient memories.
(111) My whole heart rises upto bless.

your name in pride and thankfulness.

(M

(4)

(4)



Answer any ONE in about 200 words. (6)
(a) Critically appreciate, ‘Ode to a nightingale’.
(b) Comment on the central theme of Dickinson’s prescribed poem.

(¢) Summarize the main ideas of “The Gift of India’.

SECTION - C

Answer any ONE in about 200 words. (6)
(a) Bring out the appropriateness of the title ‘Ha’ penny’.
(b) Comment on Tagore’s art of characterization in ‘Subha’.

(¢) Narrate in your own words the story of “The Lottery Ticket’.

SECTION - D

Read the following passage and summarize it. 5)

With the discovery of radium, fame came to the Curies - and they did not enjoy it. The two
great scientists had discovered a secret nature and later they were to make other discoveries
and give them to the world. And how did the world respond to them? By giving them the
things they had wanted the most? In fact, the only things they wanted were a good
laboratory, peace and quiet! Every day, they received letters inviting them to write articles
for the newspapers, to lecture at public meetings and even to give money to unknown
persons. Men from the newspaper offices in Paris came to their little home to take
photographs of everything, from their baby to their cat and to ask for their opinion on all
sorts of subjects. For the curies, all this was the most painful of experiences from which they
did their best to escape and never completely succeeded. It left its mark upon them. For
many years, when strangers stopped her on the streets to ask, “Aren’t you Madame Curie?”

Marie would answer in a cold voice mixed with fear, ‘No, you are mistaken’.

Write an essay on any ONE : (5)
(a) Role of senior citizens in Indian Society.
(b) Discipline

(¢0 Manners maketh a man

Answer any ONE of the following : (5)

(a) Write a report on the cultural fest in your college.

(b) Write a report on the increase in crime rate in your city.



10.

11.

Use any FOUR in sentences of your own. (5)

(a) broke down

(b) gavein

(¢) Put up with

(d) to pull through

(e) Herculean task

(H  lion’s share

(g) Dbell the cat

(h) apple of one’s eye

Answer any ONE of the following : (5)
(a) Write dialogues between parents on what birthday gift to give their child.

(b) Write a letter to your father requesting for extra money for the class excursion.

(¢) Write a letter to the principal of your college asking for a week’s leave to attend your

cousin’s wedding.
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Time : Three hours Maximum : 70 marks
1. Answer any TWO questions. (2 x 10 =20)
EEﬁ: I forEal

(a) Sketch the character of Jeemutha Vahana as described by Sri Harsha.
SfivcereTe e qrEfeEn g ?

(b) Write the central idea of the Drama URUBHANGA.
TN ACH TUH A& fored|

(¢c)  Sketch the character of Duryodhana as described in Urubhanga.
e ¥t e g ?

(d) Write the story of Sri Krishnasya Maitri.
‘sftesorerEt’ i areeTT " foral

2. (a) Describe how Viswamitra attained the status of Brahmarshi. (10)

Toanfim: =y sty 9 grHea: ? faweaql

Or
(b)  Write the story of ﬁTﬁﬁ'ﬁ‘ﬁWI
sty 3fa e gy foea)
3.  Explain any FOUR of the following with reference to context. (4x2=28)

AT e AR

(a) WY T TG JERea:|
(b) = gd HERSE fiEnfor g af=)
() HIgIshd JIAa-EuE guTfH|

(d) YA 9 TG TEERG T

(e) AR ufcrerggae ;|



() FERTENTE T

(g) rafawsn g:fad gHEEEE |

Write in brief note on any TWO. (2 x2=4)
21 T foed|

(a) R (b)  YERETE:|

(c) T d) SEcE:|

Define and illustrate any TWO Alankaras.
A ALIAI TG AT forEa| (2x4=28)

(a) == (b)  FAATa=E: |
(cp 3UH (d) 3@1@

Write the forms of any FOUR of the following Sabdas.
= 8)

=reanit Ffdy fparfonichy wreewarion fered

(a) % (TwH) (b) TS (o)
(© =% (qarm) (d) e (Fer)
(e) fagg (srermm) ® T () (weh)

(8) udg (&) (fgeiram) (h) I (Tuw)

Write the forms of any FOUR of the following adding the given terminations.

:4)

IO A Arsttean forad|

() F-dA (b) U3 -
(0 ¥ - Haq (d ™ -1
(e) @ + el ® F+3q

() U+ TH + w9

Translate any FOUR sentences into Telugu or English.
=TT SYHTSRIT o1 3T AR &1 3Tgagd|

(a) % T8 TeBIH|

(b) WTd: HEET Y|

4 x 2

4 x 1
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TRl I5ud T
o %3 JEd |
HEFAITIEHE 9eg |
AT TETIEY |
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SECTION — A

1. T=faRa wemen =t awem saren Hifsu) (18)

(@ O

g T faw it dell, T® oma i @l
g f I 7% fire, o oft wEa S|

T
(i) TH WG TH T, Th I o)
T TH TTIM 3d, =Tash qerdigEl|
(b) () e’ fa o w, @y 7 @R i
&l M AT g, hHal L WA |
e
(i) HIH-FHAH o YT, TTEhaT ARIHM|
T G SE S, A7 I S0 |
() () HH R AR HLh I A8 Sl Bied|
AT ek Fal o1 feiot g Higd ||
T
(i) WTEN Ed § T g, qeWTEl i A,
20 AU A, g2 S gehydl 7 v |
SECTION — B
2. Tt ue wfaan 1 aw fafau) (10)
(a) HHAR|
(b) T TN AR |
(c) Tuegml
3. Tt ws =fa o1 ufma i) (10)
(a) dodHieE|
(b)  Bfrefrewror T
(0 Hreema fgad

ot wep fowa w fasy forRam) (10)



(a) eIl
(b) foeneff et T

() wh-faram

(d) sl st THET|

(e) TEThIeHI

foreht wsp Trfeca fawa @ fae fafau) (10)

(a) feshra it aftfeafaat 1 aagmy

(b) wfherrer: fawdt w1 Tavt-gn & am § fafau)

(¢) 3UE & fom W T o forgemt 388 YH=ie <1 TATH wdTgd |
(d) TR e 1 uieeR i

frefafea m w1 fe=dt § s1game i) (12)

Most of us take life for granted. When we are in good health, death is unimaginable. Those
who can see and hear seldom make the fullest use of these blessed faculties. Their eyes and
ears take in all sights and sounds hazily, without concentration and appreciation.
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Second Year

ENVIRONMENTAL STUDIES

Time : Three hours Maximum : 100 marks

SECTION A — (4 x 10 = 40 marks)
Answer any FOUR of the following.

Each question carries 10 marks.

Explain in detail about structure of atmosphere.

PV Yetor) Repicle K°8) IDHB0Vo&.

Define environment and discuss need for public awareness about importance of environment.

JTGIEETRY) DEGDOD, Pesos® DT°GIBEI0 ) BIITPIR) 3BFEBH0 B03506.

Write in detail about role of individual in conservation of natural resources.

RDires HHO 0BEEIS” D58 Bow), FBRO A0,
Explain the following :
1808 TP HB0VOG.

(a) Eutrophication and
O |E5 8RS HoBas

(b) Bio magnification.
BB[5ovaADIO.

Write a note on Ecological pyramids.
35880 8ES K8y [FPoH0é.

“Role of IT in human health and environment” — Explain.
STHEEa0S” HBAL DD e35°50S” 063 Bk, (B,

Define secondary pollutants. Explain with suitable examples.

BIBOD SPe0dy SPESPRR DEFD0D, P GTIrEE0s” 580Hos.

Explain mechanism of global warming.
& T°8)0R G, eRH0R0 95BoBDod.



10.

11.

12.

13.

14.

SECTION B — (3 x 20 = 60 marks)
Answer any THREE of the following.

Each question carries 20 marks.

Write scope, aims and objectives of environmental studies.

émébdea @(}55053:60 B8, 288, oF? §0 BA esBoITCON KPQ) @ro0d.

Give an account on forest are of our country and their uses.

B0XB%0SE" Ko e960d 503 DB T3 GIBITeY K708y B0,

Write an essay on available water resources and their conservation practices in our country.

B058%0S° 9082renS® Py 20 HHKOO DB T3 JosEEs P8 F0HoE.

Define succession. Explain mechanism of succession with example.

@R0EF00R) DB, VEN IFPHHRVKY GErEess® DHB0WV0E.

Give an account on National and International organisations involved in bio-diversity
conservation.

BIPDL5 SoSEES” e HoBAkH oBTAADH Soged Kr6) Besod.

Write in detail about sources, effects and control measures of soil pollution.
D0)8E S°evig S5 D, |FgTaren D080k DokoBEs HEBION B0306.
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Second Year
(1i1)) — SCIENCE AND CIVILIZATION

Time : One and half hours Maximum : 50 marks
SECTION A — (2 X 13 = 26 marks)
Answer any TWO questions.

1. Explain the age of Neolithic in brief.

DAAGE 0L0KH0 K80 08007 [e000.

2. Write in detail about the discoveries in the field of science and technology during 20th
Century.

20 % é@gmess TR 2B 088E Sorros’® e39:),8038& HIeB SDTADSDNORO JHBOYD.

3.  Explain the Babylonian numerical system.

TPRE DODD SO IEAD PIBOHH.

4.  Write an essay on Green revolution in India.
PPEBHRBANS® 23BRD T8 DIHDR HB0D [FeAfvdw.
SECTION B — (3 X 4 = 12 marks)

Answer any THREE questions.

5. (a) Wheel
D83
(b) Insecticides
8er88000
(¢0 Wind energy
e B8
(d) Security

S



(e) Satellite
&[T

(f)  Synthetic fibre
Q0GB Pt

SECTION C — (3 X 4 = 12 marks)
Answer ALL the questions.
Fill in the blanks.

2790 FHPBoHI.

(a) Beri Beri is due to

DOBO DODOD DY

(b) X-rays invented by

DE)-Br A8

(¢) Tele scope inventory by

B9 D0 ER"YB

(d) ILO means

Q.09. &, e

Choose the correct answer
DB asra00 HBowod:.
(a) Compassisa
A5y o
(1) Measuring box
385070 D&
(1) A road
838
(111) Detecting tool
BE),00 HIrY) adho®o
a. Pass for entry

R



(b)

©

(d)

Moon is a

Do a8

(1) Planet
[P0

(11) Pesudo planet
mz;gw!mﬁw

(ii1) Satellite
&[T

(1v) Asteriod
TSRS

Diabetes is caused due to lack of
B060R05°000 BIS50 Do )R
(1) Bilejuice
§r085H0
(1) Thyroxine
30°8)0
(111) Vitamins
DIV
(1v) Insulin
350)9Q
Pencillin is a
2O® &8
(1) Fertilizer
Nlet)!
(11) Harmone
5B
(111)) Vitamin
DDV
(iv) Antibiotic

B DETEEI0



Match the following

BHIKWORDN.

(a) Telephone Vitamin Be
B8 208 Be

(b) Riboflavine Soap
35790 D)

(¢)  Glycerol Diphtheria
R3oeS &Base

(d) Bacteria Communication

arsSBas ROTTEIES
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Second Year

BANKING AND FINANCIAL SYSTEMS

Time : Three hours

SECTION A — (4 x 3 = 12 marks)

Answer any FOUR of the following questions.

1. Functions of Commercial Banks.
ms%wé 50500 DHEL.

2. Nationalisation of banks.
2P0 2PAOATCESE.

3. Indigenous Banking.
B30 ego80h.

4. Regional Rural Banks.
r0BAD [rves ergoLHen.

5. Indian capital market.
BN (595 5B e5.

6. Collecting Banker.
DT 2g08%0.

7.  Financial system.
DB DY
= “27®
8. Features of pass book.

€. w4

o) VL0 OKETRV.

SECTION B — (2 x 8 = 16 marks)

Answer any TWO of the following questions.
9. Enumerate the principles of Sound lending.
SEFAD SEIS @0 Be)os.
10. Explain the merits and demerits of Branch Banking system.
2°0D 2°5080R Kea8 X0 Beyod.

11. Describe the structure and functions of Reserve Bank of India.



12.

13.

14.

15.

16.

17.

18.

gPEAAD Bestds 2SOL NTYETR), DEIOH SPowod.

What are Exchange Banks? What are the functions of Exchange Banks?
DROBOAD 20N BRMTIN? VN ergoHe DEB?

SECTION C — (3 x 14 = 42 marks)

Answer any THREE of the following questions.
What do you mean by Electronic Banking? Bring out its importance in the present
day.
DO RS 2m5080R GRMTIN? (519D 8'ar0S” T (D50grgR) Beyod.

Explain the precautions to be taken by a banker in opening an account in the
name of a Trust and a Joint Stock Company.

8 (607, &8 @Pa0ES FE Kond DB PPTE PFE0N0DINE 208 HRE DOV

T TOBD?

Define ‘Banker’ and ‘Customer’. Explain the special relationship between banker
and customer.

2TGOELY’, ‘P’ O DYGDOD T°6 Jogg Ko [;Jéég Bo205eRY) DHBoWOE.

What are the problems of Indian Money Market? Give various suggestions for its
improvement.

PPEBAD ((5550778),65 Bowg), FHRGBD? TR DEIOISHE DG BIHHAAD0E.

Who is Paying Banker? What are the duties and liabilities of a Paying Banker?
D0 g8 IHB? DY0Y oSN DGRV, eEHBD?

State the precautions to be taken by banker while granting loans on security of (a)
Stock Exchange Securities, (b) Real Estates.

() & By Yo ?\)éﬂéaésoo. (b) ©OP WVETO D0 VIDIPE 2PN
B0E% DD wBBD?
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B.Com. DEGREE EXAMINATION, NOVEMBER 2021.
Second Year
FINANCIAL ACCOUNTING - 11

Time : Three hours Maximum : 70 marks
SECTION A — (4 x 3 = 12 marks)

Answer any FOUR of the following questions.

1. Statement of affairs.
26526:550"@ VB,
2. Features of Installment system.

0w STROA ) 3% oFren.

3.  Types of Branches.

(20O B5°e.

4. Profit and loss appropriation account.
eres ;6%’0 DARBI*R gz,
5.  Dissolution of firms.
DORO SE.
® @
6.  Issue of shares at premium.

D200H0KH Teere &b

7. Inter departmental Transfers.

©0®BY Jgrrre BED0HeV.

8. Fixed and fluctuating capital system.
9, =)
&36, @&)6 QTP DGO,
SECTION B — (2 x 8 = 16 marks)

Answer any TWO of the following questions.

9. What is Royalty? What are the various methods of recovery of Excess Minimum
Rent over Royalties?

TG SRMBA? oA T RO &) SV B 858 DE™D 226 IEBoB2?



10.

The following is the receipts and payments account for the year ended 31st

December 2019. You are required to prepare Income and Expenditure A/c.

Receipts

To Balance
Bank 3,000
Cash 500

To Subscription (including

400/- for the year 2018)
To Interest on Bank Deposits
To Sale of old scooter

Rs.

3,500

19,500
200
3,800

Payments Rs.

By Salaries 2,000

By Rent 600

By Stationery 1,400

By Postage 250

By Scooter 17,000

By Fixed deposits 4,000
By Balance:

Bank 1500

Cash 250

27,000

27,000

Subscriptions due for the year are 1500 and received in advance for the year 2020
are 700. The written down value of scooter sold 4,000. Depreciate scooter @ 10%.

31-12-2019 &° eaoéémd%é Sond 8o DAHVED Hrey DYoH T WOk BTODH

DA PrEry HOE BAHod.
BISHOV &oe. 3QoPHeo &oe.

To Qo By d@ren 2,000
@ 3,000 By &2 600
5 500 3,500 By Qa8 1,400
To Hom®ev (2018 Jond By 25 250
BoBD 83°.400 & $58) 19,500 By 30760 17,000
To &89 5 200 By 2§)& darae 4,000

To o8 Kmbeod) eamégo 3,800 By deg:
25°§O§J 1500
BRSO 250

27,000 27,000

8 Soll ToHORM Bowreo 1500. 2020 Jond S0 Iy Howren 700. @R 3t
éﬁoba&&b Ded 4,000. 307080 P 10% BEROEO bdgd%ﬁé@?éo.
11. Renu of Chennai has a branch in Delhi. Goods sent to the branch are invoiced at
selling price which is cost plus 33%%‘ From the following particulars prepare

Branch account in the books of H.O.

(a) Stock on 2019 Jan. 1 60,000
(b)  Stock on 2019 Dec 31 48,000
(¢)  Goods sent to branch 4,00,000
(d) Sales at Branch: 4,28,000
(e) Returns to Head Office 20,000
(  Expenses at Branch:

(g) Salaries 15,000
(h) Rent and taxes 8,000
(1) Petty expenses 7,000



IPSD Bewtd GIS® Erod &B. 9D PBRP 33%% orgfo 59D edgso G8&

Ero9D8 AaTPER DXB. (808 ddore od H.O. HISeS® |@rod grern Hardd
PDoDod.

G) 2998 1, 2019 D 3D deg 60,000
k) &toad 31, 2019 D KD deg 48,000
1) (@028 H50DD S 4,00,000
(M) (@0D D edyseen 4,28,000
(N) TR THPH SHHeV 20,000
(0) |12rod ‘bg E)eB)IONE

(p) Boeen 15,000
(@ @, Sdyen 8,000
@) 298 PEe 7,000

12. X keeps his books on single entry system and the following information is
available:

31.12.2018 31.12.2019

Furniture 2,000 2,000
Stock 28,000 30,500
Debtors 21,000 34,000
Cash 1500 2000
Creditors 17,500 19,000
Bills payable — 3,000
Loan - 5,000
Investments 5,000 10,000

He has drawn 5,000 during the year. He borrowed 15,000 on 30t June 2019 from
his friend at 10% interest per annum and put in the business. He writes off 10%
depreciation on furniture and provides 10% for doubtful debts on debtors.
Ascertain his profit or loss.

X 9@ HIS0R0 2,083 5 (55050 [P 1808 SS5I°T0RY) DIV

31.12.2018 31.12.2019

$B)dd 2,000 2,000
QSO dog 28,000 30,500
aoooesLKK):)noo 21,000 34,000
B Ta{n b 1500 2000
2200£9T°HO) 17,500 19,000
5@20@ LSVON — 3,000
2000890 - 5,000
VeI 5,000 10,000



(s)

13.

14.

lale) X)o‘cSé‘\)CSoeS‘s 5,000 o8 oo, 30.6.2019 © B i)&iﬁéofo o0& Hdond
10% 3& & 15000 olp ) TP=os’ b, B 10% SHHEOR
aoooeaLKK):)ne)L:J_ X)o‘réotir"ééég ey A8 10% bq)csm@m. (ZTIH) @?5:6%’0?63 Bébééégo&.

SECTION C — (3 x 14 = 42 marks)

Answer any THREE of the following questions.

What are the differences between Receipts and Payments Account and Income and
Expenditure?

$3770) DY0HO P°T°, STOL DI PrEre W5 e B2

Mineral Ltd leased a property at a Royalty of 1.50 per ton with a minimum rent of
10,000 per annum. Each year’s excess of minimum rent over royalties is
recoverable out of royalties of next five years. In the every of strike and the
minimum rent not being reached, the lease provided that actual royalties earned
for the year discharged all rental obligation for the year. The results of working of
the property are given below.

Year 2012 2013 2014 2015 2016 2017 2018 2019

Strike

Actual Rs. Royalty: NIL 3,300 9,000 11,100 14,000 15,000 8000 15,200

15.

(t)
(w)

)

Prepare Ledger accounts in the books of Mineral Ltd. 2018 is strike year.

20986 QWBE 2.8 D T HE™D ey 18 1.50 °aHS" 81D e Sond 10,000
E)e‘?o{ﬁc;"fog e90REBODIB. 0°o$og? 577 e8orr &) (98 Soi ) ST BB 5
do1oS® #8 IWE 0. Ty S¥ere KON EITY eF BED SES" & Sond eden
oraHen Do HB8R0B. &) P &BYY FTeu:

2018
ol 2012 2013 2014 2015 2016 2017 (353(&) 2019

orad (8°.) B 3,300 9,000 11,100 14,000 15000 8000 15,200

2018 Xoi Iy DoNBWor SRWETHHBH WIS WBE YIS’ eSy rEen
D506,

The following purchases were made by a business house having three departments
Department A 1,000 units

Department B 2,000 units } at a cost of 1,00,000
Department C 2,400 units

Stock on 15t January were :
Department A 120 units
Department B 80 units



(w)

(x)
)
(2)

Department C 152 units

The sales were :

Department A 1,020 units @ 20 each
Department B 1,920 units @ 22.50 each
Department C 2,496 units @ 25 each

The rate of gross profit is same in each case. Prepare Departmental Trading

Accounts.

(aa)

(bb)

(cc)
(dd)

(ee)
()

16.

28 Tog=S S0P D06 DgrrTren EY doear (808 SRR Y BIVB.
A gro 1,000 aeden

B dgrifo 2,000 c5orRen } 20080 Hgao 1,00,000
Cogrifo 2,400 G576

23098 1 % 3% dogen :

A Qg0 120 aooede

B g0 80 cdooeden

C dgefo 152 a5edewn

Do) eamé?m :

A dgrfo 1,020 csorden 18 @ 20

B 9o 1,920 osooeen 1 8 @ 22.50

C oo 2,496 cooeen 1 8 @ 25

S dgrifo Syve orgs B DHIPHOTT &Y B. DGR HIEY) P HATE DaAHod.

The Madras Transport Company purchases a motor car for Bombay motor
company on hire purchase agreement on 15t January 2017 paying cash 50,000 and
agreeing to pay further three instalments of 50,000 each on 315t December every
year. The cash price of the car is 1,86,250/- and Bombay motor company charges
interest 5% p.a. The Madras Transport company writes off 10% depreciation on
reducing balances method. Show ledger accounts in the books of Madras Transport
Company.

@R LR K0V 1-1-2017 5 2.8 ITerdd D &g §0Ren DEBD & ozron
Aertd EoRd HE ER0R"0 DD IR 50,000 00 30D KT ITRY 3 TowTres®
P Son &Boad 31D 50,0000 T;Sego{ﬁwag e9OREBODNB. 52K BooE); I &8
1,86,250/- %8050 °0eron 3376570 S00d Hond 5% 5& DERB. JER (ErQDEY
Eod BHBOR) dego ovog@ 0 10% BSKSOX B, 5 8. R LWS‘J@‘S% Eod

DHosees ST PTOR WHos.

—0



17. The following is the balance sheet of A, B and C sharing profits and losses in the
proportion of 6 : 5 : 3 respectively.

Liabilities Rs. Assets Rs.
Creditors 18,900 Cash 1,890
Bills payable 6,300 Debtors 26,460
General reserve 10,500 Stock 29,400
Capitals : Furniture 7,350

A 35,400 Land and buildings 45,150
B 29,850 Goodwill 5,250
C 14,550

1,15,500 1,15,500

(gg) The agreed to admit D as a new partner with % th share on following terms:

(hh) (a) The furniture is to be depreciated by 920.

(1) (b) Stock to be depreciated by 10%.

G)) () A provision of 1,320 be made for outstanding repair bills.
(kk) (d) The land and buildings to be appreciated to 59,850/-

(II) (e) The value of good will be brought upto 14,070.

(mm) (f) D should bring in 14,700 as his capital.

(nn) (g) After making the above adjustments the capital accounts of the old partners
be adjusted on the basis of D’s capital in new profit sharing ratio in the
business. Excess to be paid off or deficit to be brought in cash.

(00) Show ledger accounts and prepare balance sheet after D’s admission.

A, B, C &0 gPie0n ¢oear o8 dapodd 6:5:3 DRHBS® FowE0eTYS. T8 e
93O ovaéé 8ot DoHVEIB.

9PV 8. &0 8.
220EITCHO) 18,900 A& 1,890
E)g?o:g) DL 6,300 2083{0@0 26,460
eSen Bastidg 10,500 R deg 29,400
SoTeecsaren: DBy 7,350

A 35,400 &I° I 45,150
29,850 &S 5,250

14,550
1,15,500 1,15,500

% D ® % S0ty TerE® (808 H58I0 578 rHIDIT DT,



18.

(pp)
(aq)

(rr)

(ss)

(@) $BHS P 920 BEMOE IGHBDHBR0.

(b) I P 10% BRODVHS

(©  DYoNDOID WEHRBO VRO 1320 JGHBBHB.

(d) 2 FdTred 59,850 0K WOBIB.

(e) H&EISH 14,0700% 0oDIBR.

B D &S drer oreidornr 14,700 H:30E oodsSKo.

g 2 X)dcgare,o(g) DS BB Jodh w@o LDareoron D moémé{)& 20%03 DB €8s
a0 RS (IS0 e WD DD 08 FPHNO DYoBIBR. HXS 08
PRV B ToHBR.

DTN ST YTV HBAITD B D (533003 HHTH e 3o ZJ%?)) HOITPH

DOHoE.

A company invited the public to subscribe for 10,000 equity shares of 100/- each at
a premium of 10/- per share payable an allotment. Payments were to be made as

follows:
On application 20/- On allotment 40/-
On first call 30/- On final call  20/-

Applications were received for 13,000 shares. Applications for 2,000 shares were
rejected and allotment was made proportionately to the remaining applicants.
Both the calls were made and all the moneys were received except the final call on
300 shares which were forfeited after due notice. Later 200 of the forfeited shares
were issued as fully paid at 85/- per share.

Pass journal entries in the books of the company.

28 502D 10,000 Trerofd 287K 100 © deud Kod T 18 10 (D08
220000 BeronoHS® DYoo SEAD (Fwe Wod SEFRORN AEBODELINE. Ter
DEVHR BBPRO 20/-, Bero0R) P 40/- I0E3 ey P 30/- BB deYH P 20/- FPd
535000 DALLEIE.

13,000 Trereld (87000 oo 2000 T2 SEPPION (D) S0, QHT® S8
TEOK 7)) TETPOK DT ég@:@ Ber00ITE. BOK VVH DODT 300 Teere
D6 BB D0 Ay VT DB DNTOY SITBrrow. e Teres SRS S8 8
DI €3 BEOTS 25 BN DTS 200 e e 1 8 85/- Tpd JrBm Yo

e QB8R 28 Daredd.
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B.Com. DEGREE EXAMINATION, NOVEMBER 2021.
Second Year
QUANTITATIVE TECHNIQUES - 11
Time : Three hours Maximum : 70 marks

SECTION A — (4 x 5 = 20 marks)

Answer any FOUR of the following questions.

1. What is a Time series? Quote two definitions.

SPORE @I D? IPI° BOLD DEGHTEOR [FA00E.

2. Define Index numbers.

J3°d K)ogpéoo - DIZDOIH0.

3. Explain various types of Probabilities.

DDE BEDNBD dogrdgdon K°0) DHBoDOG.

4. Main features of a normal probability distribution.

I paeton K)oep‘;sé@*’ DgIresdo GE); mgpé o 5e7°e0.

5. Differences between Graphic solution and simplex solution.

8 Frargie’ H8A WoRT) eI e Do Brred D?

6. Explain the essential characteristics of a Time series.

SRR BY); BHEEDD OO JHBOWOG.

7. Limitations of Index numbers.

J3°d X)ogpéo BooE); S80BVRV.

8. Various types of theorem of probabilities.



DL BEI0 Sogrdg®d ﬁ)zgowm.

SECTION B — (2 x 15 = 30 marks)

Answer any TWO of the following questions.

9. From the following data construct the Fisher’s ideal index number and show that it
satisfies the (a) Time reversal test and (b) Factor reversal test

B0 0% DI e3838) BID Do DBYon, @8 (a) S°OHIBHED 5853 308050
(b) S*E5°0 HBHBH HBED w0er) DRV WIHodk.
Base year Current Year
Commodity  (&6°8 309&)850) (08 50D 8H0)
(P0De)  Quantity Value  Quantity Value
(3835°e30)  (De0D)  (I835°e90) (Do)

W 100 150 500 900
X 80 100 320 500
Y 60 72 150 390
Z 30 33 360 297

10. Using the method of Semi-averages determine the trend and short-term fluctuations
for the following data:

BKD STPoBRINED e§E-ifew ;’Jg@f{) B0I60D, (HNB HLHOR X)g;@obo& 0B

3539)5°008° RS D BB X)g;ao;bo&.

Year :

X)o;ééé‘\)do: 2009 2010 2011 2012 2013 2014 2015 2016 2017 2018
Production
(in ’000 tonnes)

&8y 32 33 33 34 32 35 36 37 36

(000 exs90E°)
Also plot the original and trend values on the same graph paper.

[T DS SIF008° T35 deuHeRn B0 ([HHE dewden A BwEHod.

11. Differentiate the following function w.r. to x

BHOP 530037700 @D WaHod.

() (5x5 —3x? - 9)5



®) x%+3

e’ +logx
(c) (x3 + 3)e5x

12. Evaluate the following integrals.
85D FATCEOR DdEEeToR0 QoDos.

(a) J.e”.dx
1
——dx.
® j(2x+3)2—5 *
x2
o I

SECTION C — (2 X 10 = 20 marks)

Answer any TWO of the following questions.

13. From the following series find 3 yearly and 5 yearly moving averages.

BIOD DWED B oD 3 D05BYTe0 WBAL 5 DodH)EHve HOB DIGATOR

88,0908,
Year :
505501 2008 2009 2010 2011 2012 2013 2014 2015 2016 2017 2018
Value:
Do 2 3 5 8 12 17 23 30 38 47 57

14. Using both arithmetic mean and geometric mean construct a price index for 2018
with 2013 as base under

@050 H0BAS 1HEd 0GFHND 6:IG3°RIT® 20185 D0HETR08, 20130 esped

QSodEnBor HROE™D

(a) Simple aggregative method and
DoeSes DIfeD ;’Jg@f{) SoBasw

(b) Average of price relative method.
550 De IED 58 BI°H VoYL JoT)en DADOE.

Commodity A B C D E F



BEPR)OV

Price in 2018

2018 & &5 30 35 20 40 50 60

Price in 2013 9
2013 &° &5 5 35 15 30 45 55

15. A bag contains 5 black and 7 white balls. A bill is drawn out of it and replaced in the
bag. Then a ball is drawn again. What is the probability that

2.8 309° 5 D005 2Bakn 7 Bews) wodren EOR DRYD. V0D 0D &8 OB O
&2 B8 ©0KS" GBR D DTS 208D BN (308 HFOM HogrHgHL Ry B8),0%908.

(a) Both the balls drawn were black
HID BOL 20800 HOV) 980K

(b) Both were white
ADD Bo 20800 BV 9K
(¢) The first one was white and the second one black and

BDD 33 208 B0DE BA BOED 0B DOV WL

(d) The first one was black and the second one white
HID IS 2008 He0) DBA V0K 2008 BEV) eI

16. Fit a Poisson distribution to the following data relating to typing mistakes
committed by a typist.

2.8 @_?Jeig WD BA0oR BHPOL F0L0F0DD DHT°® 0D ‘FP0NeTD JFFBH0’ R V0.

No.of mistakes per page

2.8 DS BIpen o 1 2 3 435
No.of pages
EC X)ogpé 142 156 69 27 5 1

17. Find the maxima and minima of the following function.
KD (530057708 KB 508030 EDg) DLVHOR EORT0&.

y=13x* +15x% + 20x% + 25.

18. Convert the following dual problem into the primal problem
B0 DA S50¢sS dd0dg0 primal Sdodg Soe8yods.
Maximize (Kaggao@m) T A
Subject to (S e0) 2x; +xy +2x3 <3

4x, +2x5 +25 <5

X1, Xg, %3 20



(DBC25)
B.Com. DEGREE EXAMINATION, NOVEMBER 2021.
Second Year

COMPUTER APPLICATION —II (COMPUTER BASED DOCUMENT)

Time : Three hours Maximum : 70 marks

SECTION A — (3 x 15 =45 marks)
Answer any THREE of the following questions.

What are the formatting techniques of a document?

G506 GBovg), TG0 EHEDeV AD?

What are advantages of MS-Word?
MS-Word &Bog); [&BIraes 9?

How many ways to create a table and how to sort the contents of a table?
Table o AR E5°0 T BAT DoHfO 508050 table &° &) content © Jer sort
DA,

What are the options in File tab and insert menu?
File tab $08a50 insert 08° Ko Q:BQSOJ AD?

Explain about custom animation and slide transition.
§§353 DDD0H Ho80sw slide transition K809 9580H08E.

Write steps to create mail merge with wizards.
2e°508" 000S 08D HATHBAWL step O [FAHOE.

SECTION B — (5 x 3 = 15 marks)

Answer any FIVE of the following questions.

How can you enter and edit the Text into a slide?

'{&)Cb@éﬁ Text &0 e enter [08050 edit DoLAOKD.

How can you apply the bullets and numbers?

bullet 08a50 numbers dexr apply DAHAOSD.

What is the use of page setup?



10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

22 setup BuE); GIBIHZOE.

What is the use of Thesaurus?

Thesaurus &), ESBIHIEI?

How can you insert symbols into a document?

C\B"é)“’éboowé’s symbols 0 Jer insert DoKX

Define header and footer.

WD 08050 footer o DELDOHOG.

What is slide layout?

'@@6@@5 9RMTR?

SECTION C — (5 x 2 = 10 marks)
Answer any FIVE of the following questions.

Use of standard tool bar.

Standard tool bar Bo0E); GBI,

What is page break?
Page break e9drmad0?

Define a macro.

E%0 dED0DOE.

What is Word-Art?
Word-Art e95rmeado?

What are keyboard short cuts?

keyboard short cuts e 297

What is notes master?

Notes master e9:9md0?

What is slide sorter?

Slide sorter e95mDI?



